
9,57 X 2,75 = Mq. 13,16

2

6,99 X 9,61 = Mq. 67,17

( 9,61 + 8,92 ) x 17,33 = Mq. 160,56

2

( 9,82 + 9,69 ) x 3,55 = Mq. 34,63

2

( 9,69 + 9,37 ) x 8,89 = Mq. 84,72

2

( 9,37 + 6,04 ) x 91,66 = Mq. 706,24

2

( 6,04 + 1,31 ) x 25,23 = Mq. 92,72

2

( 132,82 + 129,33 ) x 52,78 = Mq. 6918,14

2

( 1,38 + 4,01 ) x 37,33 = Mq. 100,60

2

( 25,14 X 17,33 ) = Mq. 435,68

( 17,59 x 2,32 ) = Mq. 20,40

2

( 17,33 + 18,13 ) x 4,97 = Mq. 88,12

2

( 17,59 + 18,13 ) x 21,15 = Mq. 377,74

2

( 35,34 x 4,35 ) = Mq. 76,86

2

( 34,8 x 1,38 ) = Mq. 24,01

2

( 4,35 + 4,01 ) x 25,36 = Mq. 106,00

2

= Mq. 9.306,77

CALCOLO SUPERFICIE TERRITORIALE

Superficie "TERRITORIALE" 


